Trigonometry - Solutions


A.

Given: tan A = -3/4, A in Quad II, sin B = -5/13, B in Quad III 

	1.
	sin A =
	
	Solution:
	[image: image1.png]sin 4






	
	
	
	
	

	2.
	cos (A + B) = 
	
	Solution:
	[image: image2.png]




	
	
	
	
	

	3.
	tan 2B = 
	
	Solution:
	[image: image3.png]119






B.

	Solve for x and give all answers in radians:
	[image: image4.png]





	4.
	[image: image5.png]sin(2x - nf4) = -~3/2





	
	Solution:
	[image: image6.png]197 237 437 477
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	5.
	cos 2x + 3 cos x = 1
	
	Solution:
	[image: image7.png]win






C.

Given y = -3 sin 2x, graph one cycle. 

	6.
	In rectangular coordinates.
	
	Solution:
	[image: image8.png]




	
	
	
	
	

	7.
	In polar coordinates
	
	Solution:
	[image: image9.png]





D.

	Given z1 = 6 cis 210, z2 =
	[image: image10.png]



	cis 60 Express in a + bi form.


	8.
	[image: image11.png]2z,




	
	Solution:
	[image: image12.png]0-6431





	
	
	
	
	

	
	
	
	
	

	9.
	[image: image13.png]



	
	Solution:
	[image: image14.png]-3+43i





	
	
	
	
	

	
	
	
	
	

	10.
	[image: image15.png]



	
	Solution:
	[image: image16.png]





E.

Verify the identity: 

	11.
	[image: image17.png]£os2x

sinx






F.

Evaluate: 

	12.
	sin tan-1(-1.63)
	
	Solution:
	[image: image18.png]= —R8524





	
	
	
	
	

	
	
	
	
	

	13.
	cos (2 sin-1 .469)
	
	Solution:
	[image: image19.png]= 5601






G.

	Find all solutions of x where
	[image: image20.png]



	(give answers to two decimal pl.)


	14.
	[image: image21.png]cos(nx—1) =43




	
	Solution:
	[image: image22.png]~68,199,244,398,494,598






H.

Solve the triangles: 

	15. and 16. a = 435, b = 297, c = 366

	Solution:
	[image: image23.png]A~B13, B ~424", C~563





	
	

	17. and 18. A = 18.3, B = 75.2, c = 620

	Solution:
	[image: image24.png]1955 =601,C =865






I.

	19.
	Find the two square roots of 29 cis 80 (write the answers in a + bi form).

	
	Solution:
	[image: image25.png]* 4125+ 34621, -4.125 - 34621






J.

Given rt. triangle ABC with AD = DB, AC = 49.7 and A = 32.7 

20. Find the length of DC. 

[image: image26.png]



Solution: [image: image27.png]= 5601




